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QUESTION 1

Scenario: An automobile manufacturer in Germany has deployed a Citrix Virtual Apps and Desktops solution for its
employees using Citrix Cloud and uses a resource location in Germany. Recently, they acquired an automobile
manufacturer in Japan. Since then, users from Japan have reported issues regarding slowness and degraded
performance of the application hosted in the German resource location. 

How can a Citrix Architect improve the performance of the application for users in Japan? 

A. Implement Optimal Gateway Routing within the existing resource location. 

B. Create a new Site for Japan within Germany\\'s resource location 

C. Provision new resources in Japan\\'s resource location 

D. Implement Global Server Load Balancing (GSLB) 

Correct Answer: D 

 

QUESTION 2

What are three things a Citrix Architect should when using thin clones with Machine Creation Services (MCS)? (Choose
three.) 

A. Storage and virtual machine (VM) migration may be more complex when compared to full clones. 

B. Provisioning speed is slower when compared to full clones. 

C. Storage fragmentation may occur over time. 

D. Storage space should be closely monitored. 

E. Higher storage space is required when compared to full clones. 

Correct Answer: CDE 

 

QUESTION 3

Scenario: A Citrix Architect is designing a new Citrix Virtual Apps and Desktops environment. Based on some initial
discussions about the business goals and objectives of the company, the architect collected the information shown in
the exhibit. 

Click the Exhibit button to view the information. 
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What should the architect recommend to meet customer requirements? 

A. Have users connect to an unauthenticated store through the Citrix Workspace app for Web sites. 

B. Have users connect to an authenticated store through Citrix Workspace app for Web sites. 

C. Have users connect using a Desktop Appliance site created in the StoreFront console. 

D. Have users connect to an authenticated store through the Citrix Virtual Apps Services URL. 

Correct Answer: D 

 

QUESTION 4

Scenario: A Citrix Architect is designing a new Citrix Virtual Apps and Desktops environment. During the assessment,
the architect determined the applications and characteristics. 

Click the Exhibit button to view the list of applications and characteristics. 

To which application category does Application 1 belong, based on the information in the exhibit? 

A. Departmental 

B. User 

C. Common 

D. Management 

Correct Answer: B 
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QUESTION 5

Scenario: A Citrix Architect needs to implement Citrix Virtual Apps and Desktops. Based on the assessment and early
stages of the design, the requirements in the exhibit have been identified. 

Click the Exhibit button to view the requirements. 

Which tier of storage should the architect consider implementing, based on the requirement? 

A. DAS 

B. Local 

C. NAS 

D. SAN 

Correct Answer: D 
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